
Test to Lecture 1

1. Which embryonal layer the epidermis originates:
a) from ectoderm*
b) from mesoderm
c) from endoderm
d) from neuroectoderm

2. How many square meters (m²) is the skin surface of an adult:
a) 1 – 1,5 m²
b) 1,5 – 2 m²*
c) 2 – 3 m²

3. Of which layers is built epidermis:
a) basal layer*
b) reticular layer
c) spinous layer*
d) papillar layer
e) corneal layer*
f) granular layer*

4. The dermis is composed of:
a) spinous layer 
b) papillar layer*
c) granular layer 
d) reticular layer*


5. Which pigments determine the color of the skin:
a) melanin
b) beta-carotene
c) hemoglobin
d) all three*

6. Keratopoesis is:
a) [bookmark: _GoBack]a process of formation of corneal layer*
b) keratinization of the cells in the basal layer
c) еxpansion of the spinous layer

7. Please indicate non-epithelial cells in the epidermis:
a) merkel cells*
b) langerhans cells*
c) melanocytes*
d) spinous cells

8.  Where the Langerhans cells are located:
a) basal layer*
b) reticular layer
c) spinous layer*
d) papillar layer
e) corneal layer
f) granular layer

9.  What is the reason for racial differences in skin color:
a) the number of melanocytes
b) the type of pigment
c) the number of keratinocytes
d) the location and the type of melanosomes in melanocytes
e) the location and the type of melanosomes in keratinocytes*

10. Sebaceous glands are:
a) apocrine
b) eccrine
c) holocrine*

11. The protective function of the skin is provided by:
a) water-lipid mantle*
b) desmosome-tonofilament complex in the basement membrane*
c) parakeratosis
d) elastic connective tissue fibers*
e) resident microbial flora*
f) melanin and keratin*
g) the deep vascular plexus

12. The immunological function of the skin is performed by:
a) langerhans cells*
b) melanocytes
c) neutrophils
d) T-lymphocytes*
e) mast cells*


